4 3 < 2 1
REVISIONS
CLOPAY MODEL 902, 903 REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
IDEAL MODEL C2AL, C3AL 00 - 2/3/17 - - INITIAL RELEASE
4" T-STRUT SEE
DESCRIPTION IN
SECTION 1-1
MODEL IS MADE y
OF 6063—-T5 ALUMINUM EXTRUSIONS. '
WALL THICKNESS: \
TOP & BOTTOM RAILS .075 1 ri ) 3 . L3 S EAS NOTE:
INTER. TOP & BOTTOM RAILS ~ .075 \ i rD:EI:U o 12 I STILES MARKED WITH H
TOP HAS .1 x 1.875" FIN (N 4/— ARE HINGE LOCATIONS.
INTER. TOP RAIL CAP .040 3 2 1Y N AN
SINGLE & DOUBLE END STILES .075 REINFORCING iy O INTER. TOP A = = w WO POINT
CENTER STILES 062 RAILS ANGLE CUT AT END STILES. | \\\\ \\\ \\ \\ :)/LOCKING
SECTION 4 - 4 l S S < . . o} i
5 \\\ \\ N \\ N N \\; Ll NOTE:
N > Y BN N ERN CENTER STILES ARE
g 1 ALWAYS 44" FROM
- CENTER TO CENTER
44" TYP. FOR ANY GIVEN DOOR
MAX 16'-2* WIDTH. DIMENSION 'B’
LHR INNER IS THE LEFTOVER
BOTTOM BRACKET DIMENSION ON BOTH
#14x5/8" SHEET METAL SCREWS SSQSASS E';E\LDSSS{QS
A
HAVE EQUAL SPACES
/ Lo o 1]1 BETWEEN ALL STILES.
O O NUMBER 0OF HEIGHT NUMBER OF
—Wi—p DOOR WIDTH CENTER A SECTIONS
\ 1/4"x3/4" SELF CENTER HINGE OF 16 GA. GALV. STEEL, ATTACHED STILES/ UP 1O 8-0 2
TAPP)I(NG SOREWS TO INTER. BOTTOM RAIL WITH (2) #14 X 5/8" SHT HINGES 8-3 THRU 10-0 5
‘ MTL SCREWS AND TO INTER. TOP RAIL WITH (2) 1/4 12°-3" THRU 13'-e* 2 10-3 THRU 12-0 6
14 GA. END HINGES — 20 X 1/2" HEX HEAD MACHINE SCREWS & NUTS 13'-3" THRU 16'-2* 3 12-3 THRU 14-0 7
14-3 THRU 16-0 8
16-3 THRU 18-0 S
MAX. SECTION HEIGHT: 24"
SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE.
SLIDE BOLT LOCK EACH SIDE OF DOOR.
END ENGAGES INTO
STILE. i e M OUTSIDE DESIGN LOADS: +32 & —-32 P.S.F.
S } HANDLE. LOCK BAR TEST LOADS  +48 & —48 P.S.F. MPC: C-AL-1F499
DOOR. OL:(ESY”ES E%EE %gﬁé’%EgNlN Unless Stated Otherwise - 8585 Duke Boulevard WINDLOAD RATING
HANDLE. ' EACH SIDE TOLERANCES o |\l ulopay vigead, Q00 \/\/ 5
INSIDE SLIDE BOLT INSIDE HANDLE OF acR. 0 = £.031 Building Products Company Fax No. 513-770-4853
LOCK_OPTION, OUTSIDE_KEYED LOCK WITH W 0-88 = :882 DESCRIPTION: M/N 902 / C2AL +32PSF DES LOAD
» 0 s e 0000 = +.001 |DRAWN BY: RUH DATE: 2/3/17 |SCALE: N/A DWG.
S et GBS D = £1/2 . e o
DESIGN ENGINEER: MARK\ WESTERFIELD, P.E. Third Angle umeszg;:; Otherw(se BHECKED D¢ DAl SHEET 1 OF 4 |SIZE
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 Projection DIMENSIONS ARE IN INGHES.|DWG. NO.: 105043

4

A

2




4

CLOPAY MODEL 902, 903

IDEAL _MODEL C2AL, C3AL

HORIZONTAL (TOP) JAMB

] (NO LOAD FROM DOOR) [
! /!

: \Q
FASTENER
TYPE

/

/— 2x6 VERTICAL JAMB \

MAX. O.C.

JAMB TO SUPPORTING STRUCTURE ATTACHMENT

NOTES:
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO

THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +256 LB & -256 LB. PER LINEAR

FOOT OF JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A

FLUSH MOUNTING SURFACE.
4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE

LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.

NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER,
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT
REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS.

FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES

REVISIONS

REV. NO.

ZONE: | DATE: ECN NO.| APPVD:

DESCRIPTION

00

SEE REVISION HISTORY ON SHEET 1

MAXIMUM
ON—CENTER
DISTANCE  |STEEL
BETWEEN , |WASHERS
BUILDING TYPE FASTENER TYPE FASTENERS" |REQUIRED?
HOLLOW_BLOCK WALL 1/4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 6-1/2" 1" 0.D.
GROUT FILLED BLOCK WALL [1/4” x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 10-3/4" [1" 0.D.
2000 PSI_MIN. CONCRETE _[1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 9-1/4" 1" 0.D.
2000 PSI MIN. CONCRETE [1/4” x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 8-3/4" 1" 0.D.
2000 PSI MIN. CONCRETE _[3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 19-1/2" |INCLUDED
4000 PSI MIN. CONCRETE _|3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED
WOOD FRAME (SYP 0.55 SG)| 1/2" x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTO STRUCTURE 21" 1_0..
14GA STEEL (0.060" MIN.) |1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 9" 1_0.D.
 |12GA STEEL (0.105" MIN.) [1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 15-1/2" |1_0.D.
yL1/8" STEEL 1/4"~14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER 18-1/2" |1 OD.

* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED

MEETING
RAILS FORM
A TONGUE
AND GROOVE
JOINT

FULL-VISION SECTIONS
WITH 1/8" DSB GLASS OR
BETTER, HELD IN PLACE
WITH SNAP—IN GLAZING
BEAD AND HOT MELT.

ASTRAGAL TO
BE 3-1/2"
FLEXIBLE VINYL

DESIGN LOADS: +32 &

ADJUSTABLE TOP ROLLER
BRACKET OF 12 GA. GALV.
STEEL, INSTALLED ON DOOR

?L% WITH (4) #14 X 5/8" LG

ONE 4" T-STRUT PER SECTION. (SEE VIEW

I "D") EACH T—STRUT ATTACHED AT EACH
STILE LOCATION WITHSTILE LOCATION WITH

SHEET METAL SCREWS

SECILION 1 = 1

2" 10 BALL LONG STEM
STEEL ROLLER WITH
STEEL TIRE

ROLLER HINGES OF 14 GA
MIN GALV STEEL, FASTENED
WITH (4) #14 X 5/8"
SHEET MTL SCREWS & (2)
1/4"X3/4" SELF TAPPING
SCREWS.

4-1/4"

VIEW "D”

4" TALL TAPER STRUT.
0.057" MIN. GALV. STEEL,
50 KSI. MIN.

(2) 1/4"x1" SELF TAPPING SCREWS.

BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
FASTENED WITH (4) #14 X 5/8" SHT MTL SCREWS.

\— BOTTOM SECTION REINFORCED W/ A TEMPERED

ALUMINUM EXTRUSION WITH INTEGRAL RETAINER
FOR FLEXIBLE VINYL ASTRAGAL.

=82 P.S:F.

TEST LOADS +48 & —-48 P.S.F. MPC: C—-AL-1F499
Unless Stated Otherwise - l}l 3585 D(l)Jll-(le4E82(l)evL?Srg WINDLOAD RATING
ason,
TOLERANCES ore | umm WsAOPAY 1% 515557024800 \/\/ 5

Fax No. 513-770-4853

¢ AT LEAST AS HIGH AS THE DOOR OPENING. 0 = +.031 Building Products Company
CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. =
Z MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. (o0 101> |DESCRIPTION: M/N 902 / C2AL +32PSF DES LOAD
S b S dooo = i'OO‘l DRAWN BY: RJH DATE: 2/3/17 |SCALE: N/A DWG.
W, e G ey N e Degrees = *1/2° & s SIZE
DESIGN -ENGINEER: MARK' WESTERFIELD, P.E. Third Angle TEeS S Bt e e CHG DaTES ikl BF &
FLORIDA\P‘.E.,w#,45495_,‘___r\_1c P.E. #23832, TEXAS P.E. #91513 Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 105043

4

2N




4

CLOPAY MODEL 902, 903
IDEAL MODEL C2AL, C3AL

2" TRACK CONFIGURATION.

NOTE DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE- ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE
OPTIONS.

TRACK CONFIGURATION ._'
ABOVE THE DOOR OPENING 5
DOES NOT AFFECT THE o
WIND LOAD RATING. =
3
O
o
[}
—
2
=
&
z
Z
w
Qo
(@]

HORIZONTAL TRACK

REVISIONS

REV. NO.| ZONE: | DATE: ECN NO. | APPVD: DESCRIPTION

SEE REVISION HISTORY ON SHEET 1

00

ANGLE MOUNT JAMB CONFIGURATION

2x6 SYP JAMB (IF PRESENT;
SEE JAMB NOTES ON SHEET 2).

SUPPORT BY DOOR
INSTALLER (TO SUIT). DOOR
DOOR COUNTERBALANCE SYSTEM HEIGHT | "L JAMB CON,FIGURATION
: ‘ . IGHT | "L FOR 2" TRACK.
6-6"] 70
13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7'-0"| 76"
JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 7-6"] 82"
AND TO TRACK WITH (2) 1/4" RIVETS. 8'-0"| 88"
8'-6"] 94" 2x6 SYP WOOD JAMB.
. 9'-0"]100" REQUIRED FOR BRACKET
AS RQD: TYP. SPACING 24". 9 —6"1106" MOUNT.
SPACING NOT TO EXCEED 30" O.C. 10—0"[112"
2" GALV. STEEL TRACK, :?'_8-» Bﬁn
TRACK THICKNESS: 0.060" MIN. 67130
T .. 12-0"[136"
o8 12'=6"[142"
VERTICAL TRACK TO BE BRACKET 13 -071148"
MOUNT OR CONTINUOUS/REVERSE 13 -67]154"
ANGLE (1-3/4"x2—-1/4"x12 GA 14 -0 1160
MIN.) MOUNT. ALL 14 61166
BRACKETS/TRACK CLIPS ARE 12 15 -0-1172
GA. GALV. STEEL. BRACKETS/CLIPS 15 -61178"
ARE ATTACHED TO TRACK WITH 16 -01184"
EITHER TWO 1/4" RIVETS OR ONE 16 =61190"
1/4" BOLT AND NUT. 17 -0 1196
17 =6"]202
18'—0"[208"

2-1/2" X 12 GA GALV. STEEL—0
TRACK BRACKETS FASTENED TO

1-5/8" LAG SCREWS NOT TO

2" GALV. STEEL TRACK FASTENED TO
12 GA GALV STEEL TRACK BRACKETS
WITH EITHER (2) 1/4" DIA. RIVETS OR
(1) 1/4" X 5/8" BOLT & NUT PER

CENTER STILES FASTENED TO
RAILS WITH FULL LENGTH
5/16" STEEL RODS AND
FLANGE NUTS.

OPTIONAL STOP MOULDING
BY INSTALLER (TO SuIT).

BRACKET MOUNT JAMB CONFIGURATION
1" DOOR OVERLAP (EACH SIDE)

END STILES FASTENED TO
RAILS WITH FULL LENGTH
5/16" STEEL RODS AND
FLANGE NUTS.

ONE 5/16” x 1-5/8" LAG
SCREW SPACED AT THE SAME
DISTANCES AS THE TRACK BOLTS
(LE. 3-1/2", 10", AND EVERY
24"). ALSO TWO LAG SCREWS
LOCATED ABOVE VERTICAL —
HORIZONTAL TRACK JUNCTION.

cHP—} —..-l'"

\CENTER HINGE OF 16 GA. GALV. STEEL, ATTACHED
TO INTER. BOTTOM RAIL WITH (2) #14 X 5/8" SHT
MTL SCREWS AND TO INTER. TOP RAIL WITH (2) 1/4
- 20 X 1/2" HEX HEAD MACHINE SCREWS & NUTS

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.

2" DIA. LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

WOOD JAMBS WITH 5/6" X 7/16" 1.D. ROUND

PUSH NUT
FASTENER.

EXCEED 14" ON-CENTER.

TRACK BRACKET. SECTION C-C

PREPARATION OF JAMBS BY OTHERS.

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
ATTACHED WITH (2) 1/4” x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE" AS NOTED ON
SHEET 2.

3" TRACK CONFIGURATION.

NOTE DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE- ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE
OPTIONS.

TRACK CONFIGURATION
ABOVE THE DOOR OPENING
DOES NOT AFFECT THE

CENTER HANG REQUIRED FOR JAMB

DOUBLE TRACK

CONFIGURATION

FOR DOORS WITH 3" TRACK.

DOORS OVER 8’ HIGH.

3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK
THICKNESS: 0.101". ANGLE THICKNESS: 0.080".
MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8".

VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING
JUNCTION. TWO 1/4" BOLTS —— FROM LAST MOUNTING

HORIZONTAL TRACK
SUPPORT BY DOOR
INSTALLER (TO SuUIT).

DOUBLE HORIZONTAL
TRACK.

LOW HEADROOM OPTION
(AVAIL. FOR BOTH 2" AND 3" TRACK)

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SuUIT).
END STILES FASTENED TO RAILS WITH FULL LENGTH 5/16" STEEL
RODS AND FLANGE NUTS.

1" DOOR OVERLAP (EACH SIDE) —]

2x6 SYP JAMB (IF PRESENT;
SEE JAMB NOTES ON SHEET 2)

5/16" STEEL RODS AND FLANGE NUTS.

CENTER STILES FASTENED TO RAILS WITH FULL LENGTH

= |
WIND LOAD RATING. & & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED 7 # ST
o} . i : f
= RBIELE. SEE kAR BOLT MULNINIE TF TRACK | % CENTER HINGE OF 16 GA. GALV. STEEL, ATTACHED
x ADDITIONAL MOUNTING SLOTS CONFIGURATION BELOW. 7/16" 1.0. ROUND \_JO INTER. BOTIOM RAL Wk (2) #14 X 5/8" SHT
8 T SRESED W 1A SNl EXSSTHEN’EL%T MTL SCREWS AND TO INTER. TOP RAIL WITH (2)
: 1/4 — 20 X 1/2" HEX HEAD MACHINE SCREWS
] "
e —12" ON CENTER 0.101" THICK 3" GALV. STEEL TRACK FASTENED NG N,
5 " TO TAPERED ANGLE. TRACK ATTACHED TO 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
W “8 TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
- NUT AT EACH MOUNTING SLOT. AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
0 ” "
z - ONE. %" TRACK BOLT AND NUT AT EACH o 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
& MOUNTING SLOT LOCATION. SECTION C-C
a8 P 2L 1IVIN
o E DOOR TVERTICAL PREPARATION OF JAMBS BY OTHERS.
i HEIGHT |TRACK LENGTH DESIGN LOADS: +32 & —32 P.S.F.
; 7-0" |72 TEST LOADS  +48 & —48 P.SIF. MPC: C—AL-1F499
i, g,:g,, 982.. Unless Stoted Otherwise | (D 8585 Duke Boulevard WINDLOAD RATING
oleraceS . |um Glopay oo, 880 W5
s 127-07 132" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 0O = +.031 |Buiding Products Company  Fox No. 513-770-4853
‘ 3-1/2" 14=0" 156" DISTANCES AS THE TRACK BOLTS (L.E. 3-1/2", 10", 22", 34", 00 = o o -
z 167—0] 180" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 500 = ioos |DESCRIPTION: M/N 902 / C2AL +32PSF DES LOAD
91513 Se o T 1234204, 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE 0000 = + 007 |DRAWN BY: RuH DATE: 2/3/17 |SCALE: N/A DWG.
= TN sl P VERTICAL/HORIZONTAL TRACK JUNCTION. e .
R: MARKOWESIEREELD. P.E s A Degrees = +1/2° |CHECKED BY: - DATE: - SHEET 3 OF 4 [SIZE
. ER; SR " T IS mnge Unless Stated Otherwise
FLORIDA PE. #48495, NC RE..#23832, TEXAS P.E. #91513 Projection DMERsIohe e N Nohes | DWE, NO: 105043

L IUNAL © =
Sy

e 4_

R N

A

2




